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1. We can think of the F&H office as a Jackson network. Heathcliff is a M|M|1 queue
with arrival intensity Ay and service intensity puy = 1/10. Frasse’s service is a
M|M]|1 queue with arrival intensity A and service intensity pp = 1/8.

(a)

Let Ag = 1/20 be the arrival intensity from the outside, i.e. the intensity
in to the reception. The traffic balance equations are Ap = 0.6Ag + 0.1\p
and \y = Ar + 0.2\g + 0.1\p which yields, A\p = 1/22 and Ay = 3/44.
We can now check that the low traffic requirements are satisfied, i.e., that
Ag = 3/44 < pg = 1/10 and A\p = 1/22 < pp = 1/8. So the queues converge
to a stationary state.

LF = pF/(l — pp) = 4/7, and LH = pH/(l — pH) = 15/7

The average total number of patents in the systems is then L = Ly+Lp = 19/7

The probability is 0.2\ /Ar = 0.23/55 = 3/11.

Let Vg and Vg be the average time it takes from a call arrives to one of the
service stations until it leaves it, i.e., Vp = Lp/A\p = 88/7, and Vg = Ly /g =
220/7.

Letting W be the average time from a patent arrives to Heathcliff until it
exits the system, Wg be the average time from a patent arrives to Frasse until
it exits the system, then

Wp=Vp+ 1/10WH + 1/10WF
Wi =Vg+02Wg +0.6Wg

then Wg = 20 and Wy = 54.3.
So the average time for passing through is 54.3 hours.

If a patent is interrupted during a readthrough no time is lost due to the
memory less property of the exponential distribution. If the patent has not be
read through at some particular time the probability that Heathcliff will finish
reading through within the next t time units is the same as if he started from
the beginning. Therefore, when the prioritized patent has been finished, no
time was wasted on the patent that was currently being read and therefore the
average queue length is not changed.

This can be solved using the economic order quantity model Let K = 150,
d =100, h =1/100 and ¢ = 0.

Optimal D is D = /245 = 100/300
The time between to visits to the loan shark is Q/d = v/300.
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(b) This can be modelled as an EOQ model with planned shortage. The SMS-loan
is taken at the moment that the money borrowed from the loan shark becomes
Zero.

Now let p = 1/10 denote the shortage cost, S the amount from the SMS-loan.
The total cost per cycle is

hD?  pS?
T.=K+ —+—7—.
¢ T 5a T
Let @ = D + S, then the length of a cycle is @/d and the total cost per time
unit is ) )
Kd hD -D
p- K D7, pQ D]
Q@ 2Q 2Q

The optimum is obtained at the stationary point, where derivatives of T" w.r.t.
@ and D are zero.

_Kd_hD* p(Q-DP p@-D)_
Q@ 207 2Q? Q
hD p@-D) _,

Q Q '

From which

2dK P
D* =/ =— .,/ —— ~ 5450
h p+h
2dK h
Q* = \/—,/}i ~ 5505
h p

Let s; denote the number of servers at facility 3.

N N
Let f(s1,82,53,54) = > ;-1 Wy(ss) and g(s1,52,53,54) = > ;1 Si-
Then f and g are separable functions, f is decreasing and g is increasing.
Furthermore, A%2g = 0 since the function is linear, so it is integer-convex.

AWy(s) | p=02| p=05 | p=07 | p=038

s=1 —4.1116 | —14.7597 | —36.07011 | —65.6154
5=2 —0.1904 | —1.1206 | —2.1852 | —2.8944
5=23 —0.0080 | —0.1094 | —0.2759 | —0.3962

Since the values are increasing in each column the function f is integer-convex
for the tabulated values.

We can then apply the Marginal Allocation algorithm.
Note that Af;(s) = AW,(s;) and Ag;(x) = 1, so the quotients —A f;(s)/Agi(s) =
AW,(s;) are given in the table above.

The efficient allocations are therefore,
SO = (s1=1,50=1,s3=1,5,=1), f(s(0) =127.8,9(s(V) =4
S = (51 =1,80=1,83 = 1,54 = 2), f(sV) = 62.2,9(sV)) =5
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S = (51 =1,85 = 1,83 = 2,54 = 2), f(5@) = 26.2, g(s?)) =
8(3):(51:1’32:2’83:2784:2),f(())_1149(83)
S@ = (51 =2,82 = 2,83 = 2,84 = 2), f(S(4)) =T7.3,9(s (4)) 8

Let Ag = )\1 + X+ A3 —|— A4 = 0.11. The mean wailting time is given by LW q(s1) +
Af) Wa(s2) + AO 2Wo(s3) + Ao LWy (s4)

So we change the objective function to f(si, s2, s3,54) = Zf;l /’%Wq(sl)

It is still integer-convex and decreasing since the intensities \; are positive, and the only
thing that changes is that column ¢ in the table is multiplied with \;/Ag.

This will change the last allocation to be S®) = (s1=1,89=2,83 =2,54 = 3).

4. (a) We need to keep track how many cakes we have at beginning of day k, define
the state

0 if number of cakes at beginning of day & is 0
s =4 1 if number of cakes at beginning of day k is 1
2 if number of cakes at beginning of day k is 2

Define the decisions

0 if Frasse orders 0 cakes day k
xp = < 1 if Frasse orders 1 cakes day k
2 if Frasse orders 2 cakes day k

The state update equation is sgy1 = s — di + x, where 0 < s < 2, so larger
values than 2 are counted as 2, and di = 0 if s + x; = 0 and otherwise

dr — 1 with probability 0.2
¥~ 0 with probability 0.8

The transition probabilities are
pij(x) = the probability of jumping from state i to j if we make decision x.

1 0 0
Pz=0)={02 08 0
0 02 08
(02 08 0
Ple=1)=| 0 02 08
0 0 1
0 02 08
Pe=2=|0 0 1
0 0 1

Let ¢;j(x) = expected cost incurred when the state is in state ¢ decision z is
made and the system evolves to state j.

0 -

Qz=0)=| -100 0 -
—  —100 0
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-50 50 —
Qz=1)=| — =50 50
- - 30
— —20 80
Qz=2)=| - — 60
— — 60

Then the expected “cost” of making decision zj, at state sy is Cs, », = Z?:O Qsp.iDsp.i (Th)-

Coo = q00(0)po0(0) + qo1(0)po1(0) + qo2(0)po2(0) = 0

Co1 = qoo(1)poo(1) + qo1(1)po1(1) + qo2(1)po2(1) = 30
Co2 = qo0(2)Po0(2) + qo1(2)po1(2) + qo2(2)po2(2) = 60

C1o0 = q10(0)p10(0) + q11(0)p11(0) + q12(0)p12(0) = —20

C11 = qo(1)p10(1) + q11(1)p11(1) + q12(1)p12(1) = 30
C12 = q10(2)p10(2) + q11(2)p11(2) + q12(2)p12(2) = 60

Cao = q20(0)p20(0) + ¢21(0)p21(0) + g22(0)p22(0) = —20

Ca1 = q20(1)p20(1) + go1(1)p21(1) + go2(1)p22(1) = 30
Caz = q20(2)p20(2) + 21(2)p21(2) + q22(2)p22(2) = 60

Let Vj(s) denote the optimal cost from day k if the state at that day is s.

V3(0) = min {Cyo, Co1, Co2} = Coo =0

V3(1) = min {Ci9, C11,C12} = C1p = —20
V3(2) = min {C, C21, Caz} = Cy = —20

Recursion

2
Vi(s) = mxin {Csz + Zpsj(SC)VkJrl(j)}

j=0
V5(0) = min {0 4 10,30 + 0.2 % 0 + 0.8  (—20), 60 + 0.2 % (—20) + 0.8 % (—=20)} = 0
Va(1) = min {—20 + 0.2 % 0 + 0.8 % (—20), 30 + 0.2 % (—20) 4 0.8 x (—20), 60 + 1 % (—20)} = —36
V3(2) = min {—20 + 0.2 % (—20) + 0.8 % (—20),30 + 1 % (—20),60 + 1 % (—20)} = —40

V1(0) = min {0 + 1% 0,30 + 0.2 % 0 + 0.8 % (—36), 60 + 0.2 % (—36) + 0.8 * (—40)} = 0

So it is optimal not to buy any cakes.
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(b) Starting policy:

If s, = 0, make decision x; = 0, for the expected cost 0.
If s = 1, make decision x; = 0, for the expected cost -20.
If s, = 2, make decision x; = 0, for the expected cost -20.

Use the policy iteration algorithm. Let vo = 0, then the value determination
equations

g+ vg =04 1lvg + Ovy + Ovg
g+ v1 = —20+ 0.2v9 + 0.8v1 + Ovg
g+ va = —20 + 0vg + 0.2v1 + 0.8v9

gives g = 0, vg = 200, v; = 100, and v9 = 0.
To find out if it is optimal we do one step of the policy iteration.
Fori =20

k%iHQ{COk + (poo(k)vo + po1 (K)v1 + po2(k)v2)} =

= min{Coo+(poo(0)vo+po1(0)v1+po2(0)v2), Co1+(poo(1)vo+po1 (1)v1+po2(1)v2) Coz+(poo(2)vo+po1 (2)v1+po2(2]

— min{0 + (1 % 200), =20 + (0.2 % 200 + 0.8 % 100), =20 + (0.2 + 100), } = 200 for k = 2.

200 100 0

For:=1
kgloiHQ{Cm + (p1o(k)vo + pr1(k)v1 + pi2(k)ve)} =

= max{C10+(p10(0)vo+p11(0)v14+p12(0)v2), Ci1+(p10(1)vo+p11(1)vi+pi2(1)v2), Cra+(p10(2)vo+p11(2)v1+p12(

= max{—20 + (0.2 % 200 + 0.8 * 100), 30 + (0.2 x 100), 60 + (1 % 0), } = 50 for k = 1.

100 50 60

For i =2
Jmax {Cop + (p20(k)vo + pa1(k)vr + paa(k)va)} =

—Ydy

= max{Ca0+(p20(0)vo+p21(0)v14+p22(0)v2), Co1+(p20(1)vo+p21 (1)v1+p22(1)v2), Cao+(p20(2)vo+p21 (2)v1+p2a(

= max{—20 + (0.2 % 100),30 + 1% 0,60 + 10, } = 0 for k = 0.

0 30 60

The starting policy is not optimal, it is better to use the updated policy
Updated policy:

If s = 0, make decision z; = 2, for the expected cost 60.

If s, = 1, make decision z; = 1, for the expected cost 30.

If s = 2, make decision x; = 0, for the expected cost -20.

It was enough to get this far. For completeness the rest of the iterations are
described below. Notice how the mean expected cost per time step g decreases
at each iteration.
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Use the policy iteration algorithm. Let vo = 0, then the value determination
equations
g+ vg = 60 + 0vg + 0.2v1 + 0.8v4

g+ v1 = 30+ 0vg + 0.2v1 + 0.8v9
g+ va = —20 + 0vg + 0.2v1 + 0.8v9
gives g = —10, vg = 80, v; = 50, and v = 0.
To find out if it is optimal we do one step of the policy iteration.
For:=20
kg%il;lz{COk + (poo(k)vo + po1(k)v1 + poa(k)v2)} =

)

= min{Coo+(poo(0)vo+po1 (0)v1+poz2(0)vz2), Cor+(poo(1)vo+po1 (1)vi+po2(1)v2), Coz4(Poo(2)vo+po1 (2)vi+po2(:
= min{0 + (1 % 80), —20 + (0.2 * 80 + 0.8 x 50), —20 + (0.2 % 50), } =5 for k = 2.

80 11 5

For:=1
kI:I})ililQ{Cm + (pro(k)vo + p11(k)v1 + pra(k)ve) } =

= max{C10+(p10(0)vo+p11(0)v14+p12(0)v2), C11+(p10(1)vo+p11(1)vi+p12(1)v2), Cra+(p10(2)vo+p11(2)vi+p12(

= max{—20 + (0.2 % 80 4 0.8 * 50), 30 + (0.2 % 50), 60 + (1% 0), } = 36 for k = 0.

36 40 60

For i =2
kIEl()ai%{C% + (p20(k)vo + pa1(k)v1 + paa(k)v2)} =

—Y%h

= max{Ca0+(p20(0)vo+pa21(0)v1+p22(0)va), Co1+(p20(1)vo+p21 (1)v1+p22(1)ve), Cao+(p20(2)vo+p21 (2)v1+paa(

= max{—20 + (0.2 % 80),30 + 1% 0,60 + 1% 0, } = —4 for k = 0.
—_— —— ———

1 30 60

Updated policy:
If s, = 0, make decision z; = 2, for the expected cost 60.
If s = 1, make decision x; = 0, for the expected cost -20.
If s;, = 2, make decision x; = 0, for the expected cost -20.
Use the policy iteration algorithm. Let vo = 0, then the value determination
equations
g+ vg = 60 4 Ovg + 0.2v1 + 0.8v2

g+ v =30+ 0.2v9 + 0.8v1 + Ovs
g+ va = —20 + Ovg + 0.2v1 + 0.8v4

gives g = —12, vg = 80, v; = 40, and v = 0.
To find out if it is optimal we do one step of the policy iteration.
For i =0

kgloilllQ{COk + (poo(k)vo + po1(k)v1 + poa(k)v2)} =

—Y%h
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= min{Coo+(poo(0)vo+po1 (0)v1+po2(0)v2), Coi+(Poo(1)vo+po1 (1)vi+po2(1)v2) Coa+(Poo(2)vo+po1 (2)v1+po2 (2
— min{0 + (1 80), —20 + (0.2 80 + 0.8  40), —20 + (0.2 ¥ 40),} = —12 for k = 2.
80 28 12
For:=1
kl_%irllQ{Cﬁk + (p1o(k)vo + pr1(k)v1 + pra(k)v2)} =
= max{C19+(p10(0)vo+p11(0)vi+p12(0)v2), C11+(pio(1)vo+pi1(1)vi+pi2(1)ve), Cra+(p10(2)vo+p11(2)vi+pia(
= max{—20 + (0.2 x 80 + 0.8 * 40), 30 + (0.2  40), 60 + (1 % 0), } = 28 for k = 0.
28 38 60
For:=2
klzloafi?{c% + (p20(k)vo + pa1(k)v1 + paa(k)va)} =
= max{Ca+(p20(0)vo+p21 (0)v1i+p22(0)v2), Co1+(p20(1)vo+p21 (1)v1+p22(1)v2), Coz+(p20(2)vo+p21 (2)vi+p2a(
= max{—20+ (0.2%80),304+ 10,60+ 1x0,} = —4 for k = 0.
—_— —— Y —
~ 30 60
So the updated policy is optimal.
(c) The selling value of the cakes are decreasing over time, it is not the income in the

future that is discounted back to todays value, therefore it is not a discounted
cost criterion problem.

If we want to model the problem as a Markov chain we have to have a state
that holds all of the information necessary to calculate the value. Therefore,
the state has to have one variable for each cake that tells us if they have bought
that cake and how old it is. The size of the problem then becomes much larger.
The transition matrix will be very large but rather sparse.



